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1. Bf]a,b%— EFE MR, a=(x,p,),b=(x,.0,).
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PR a=x,ity,j,b=x,ity,j.
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(2)RER Fa, b rRa- b2 BFERR?
PR fE »a-b=(xi4y j)  (x,11y,])
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&7~ :a L bea-b=0,8 x,x,+y,y,=0.
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F] §a=(x1,y 1)sD=(x2).
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3'(1)% I-FL[l%a:(ll-,-Z),b:(-l,-G),ljl\lJa-b:

(2)% [\l &a=(3,x),b=(2,-6), H.a L b, W|x=
fB4r:(1)a-b=4x(-1)+(-2)x(-6)=8.

(2) B #a_L b, BT Yha-b=0, BP 3x2+(-6)x=0, #Z FFx=1.
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1. EMa,bRIEF F &,a=(x,,y,),b=(xy,)-al,|b| 735 F 445 B
PERIR 2a, b T ORE 15 P AU AR TR ?

Rl T a’=a-a=(xiityj) (aitynf)=x7 + yi,A mla|= xi + y79,
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a||b|

5] 32 |b|= x2‘|‘y2 B m = £ BN X cos 0=
al, b| 447 A B .
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a=(x1,)1), b= =(X2,)2), a5b )R,
M cos 0—a b XXt i
allp] X3+ y? X2 +y3




3°(1)i£ a=('293)9)|_\"“a|= ;
(2)% a=(4,-3),b=(-8,-6),)|_\”J aab Sé 3 B@/éﬁz‘i"ﬁ%i‘ )
3)BHI 4(2,6),B(4,7), 1| AB|=

fRH:(Dlal= (-2)* + 32 = V/13.
(2)3% a,b A9 A A 0,0

cos = ab -32+18 14 7
~ 5x10 25°

a||b| 424(:3)%% (-8)2+(-6)>

B)AB|= (4-2)% + (7-6)% = /5. &=F:(1)V13 (2)-% 3)V5
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(1) BRI a=(x;,0,),b=(x20), M a-b=x,p,+x,p,.( )
(2)75 a=(x;y,),b=(x0,), Ha L b, x,y;+x,9,=0.( )
(3)#a-b=|a||b,Wa,bFLLR.( )

(D a-b>0,WabFIRANGA( )




SRR « BSE R




> Ro5i— BERNLFEE >
[f1)] EHFEa=(-1,2),b=(3,2).
(1)>Ka-(a-b);
(2)R(a+b)-(2a-b);
(3)F& c=(2,1),3K(a-b)c,a(b-c).
THTARBAARIZH EN L5 RERNWEHEZRITHIH




MR:(1)F E—: 2a=(-1,2),b=(3,2), .5 a-b=(-4,0).

2 (a-b)=(-1,2)- (-4,0)=(-1) X (-4)+2x0=4,

7 ik —:a-(a-b)=a2-a-b=(-1)24+22-[(-1)x3+2x2]=4.

2) % a+b=(-1,2)+(3,2)=(2.4),2a-b=2(-1,2)-(3,2)=(-2,4)-(3,2)
=(-5,2),

. (a+h)-(2a-b)=(2,4) (-5,2)=2 X (-5) +4x2=-2.
3)(a-b)e=[(-1,2)(3,2)]X(2,1)=(-1x3+2x2)x(2,1)=(2,1).
a(b-c)=(-1,2)x[(3,2):(2,1)]=(-1,2)*x(3%x2+2%x1)=8(-1,2)
~(-8,16).
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DC,BC t-,H DM=MC,BN=BC,l|AM - AN~
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Wt (7% —)AM AN = AD +3AB - AB +AD
05X 24 X3 X0=5,

(F k=) A R EABAD FFEB BN A K x b, y kbt s
T B A AR R (B, 4(0,0),M(1,2),N3,1),

F 2 AM=(1,2),AN=(3,1),3x AM - AN=5.
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